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Mathematica {{A3:
IA = RandomInteger[{-5, 5}, {5, 9}1;
X = RandomInteger[{-5, 5}, {9, 1}]

A.X
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tz: kerT = {v € V|T(v) =0}

{g: T = {T(v)lv eV}

HE ATV

RT:V—=W 214K, VEEREQETE, WELHLN:
dim(V) = dim(ker T') + dim(im T')

BAMGNAERE, DRIFRA T MMELE.



inoj= X = {{a, b, c, d, e, £, g, h, i} } // Transpose

oupor {{a}, {b}, {c}, {d}, {e}, {f}, {g}, {h}, {i}}

nza= Solve[# == 0 & /@ Flatten[A.X], {a, b, ¢, d, e, f, g, h, i}] // Quiet // Flatten

[ 1673 a 524 b 309 c 1212d
ou23= {€ = - = = = i
L 789 263 263 263
716a 777b 802c¢ 1486d 123a 521b 378c¢c 926d
- - - - - » E= + + + %
263 263 263 263 263 263 263 263
2468a 88lb 777c 1845d 685a 70b 231c 1&&d
h = + + + y1-=- + + AT
789 263 263 263 789 263 263 263

In2s)= X={{1, 0, 0, 6, 0, 0, 0, 9, 0}} // Transpose

Out[25]=
{{1}, {e}, {e}, {e}, {e}, {06}, {0}, {0}, {0}}
In26]:= A.X
Out[26]=

{{-2}, {3}, {-1}, {5}, {2}}
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